Angles in Standard Position in All Quadrants
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PRE-CALCULUS 11
TRIGONOMETRY
ANGLES IN STANDARD POSITION IN ALL QUADRANTS

A. Definitions
1. Quadrant: the area of the coordinate graph that the point or shape is located.

2. Standard Position: an angle whose endpoints are at the origin and whose initial
arm lies on the positive side of the x-axis.

3. Reference Angle: the acute angle whose vertex is the origin and whose arms are
the terminal arm of the angle and the x-axis. The reference

angle is always a positive acute angle between 0° and 90°.

B. Determining Reference Angles

The terminal arm of an angle in Quadrant 1 can be successively reflected in both axes
to form 4 different angles in standard position. The reference angles for all 4 angles
is the acute angle that the terminal arm makes with the x-axis. Lets look at the

angles in standard position that have a reference angle of 35°
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C. Quadrant Rule for Trigonometric Functions

Remember from Grade 9 the way the coordinate graph is divided into quadrants.
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D. Examples

QL — Q4

1) Determine the other angles between 0? and 360° that have the same
reference angle.
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2) The point P(2,-5) lies on the terminal arm of an angle ¢ in standard position.
a) Determine the primary trigonometric ratios of 6.
b) Determine the measure of @ to the nearest degree.
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